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If £”(x) = x(x +2)°, then the graph of f is concave up for
A) x<0

®) x>0

© 2<x<0

(D) x<-2and x>0

(E) all real numbers
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The graph of y = f(x) on the closed interval [0, 4] is shown above. Which of the following could be the graph
of y=f(x)?
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Let f be the function with derivative defined by f”(x) = ¥° — 4x. At which of the following values of x does
the graph of f have a point of inflection?
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Let f be the function given by f(x) = . where k is a constant. For what values of k, if any.

7
is f strictly decreasing on the interval (il,Jlr)Iv
(A) k<0
®) k=0
© k>0

(D) k> 1 only

(E) There are no such values of k.
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Let y = f(x) define a twice-differentiable function and let y = 1(x) be the line tangent to the graph of f at
x=2.1f 1(x) 2 f(x) for all real x, which of the following must be true?

A f@=z0

®B) f(2)z0
© f@=o0
D f2=z0
E) f2=0




